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Response tables
> points = 100
Pts agree
ANnswers agree



QUIZ
FOLLOWS



(a) 1

(b) 2

arithmetic

14+1=77

O pts




Dt° 4 8t

tli—% t2(sin?t)
(a) 8
(b) oo
(C) —oc

(d) none of the above

0% 0% 0%

Topic 0230 20 pts



d

— [3sinz 4+ 4cosxz] =77
dx

(a) (0)(cosz) 4 (0)(—sinz)

(b)3cosz + 4sinz

(c)3cosx — 4sinx

(d) none of the above

Topic 0360

0%

0% 0%

1

20 pts



d

— [zsinz 4+ 4cosx] = 77

dx

(@) (1)(cosz) 4 (0)(—sinz)

(b) xcosz + 4sinzx

(C) xcosx — 4sinx

(d) none of the above

Correct: sine + xcosxz — 4singx

Topic 0360

0%

0% 0%

1

30 pts



W (x) = |
L (@)][g(2)] + [F(2)]ld' (2)] f(4)=7,f(4)=1

W (4) = g(4) =6, 9,(4) =3
@] + [ (@]l ()] h(z) = [f(@)]lg(@)]

h(4) =77, h'(4) = 77

(a) 42, 3

(b)13, 27

(c) 42, 27

(d) none of the above

Topic 0340 30 pts
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